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Answer: A

QUESTION: 57

Management wants to know how many times the connection to the BlackBerry
Infrastructure has been lost. Using the BlackBerry Monitoring Service, for how many
previous weeks can the graphs display data for a BlackBerry Enterprise Server
component? (Choose one)

Answer: D

QUESTION: 58

In order to achieve the best possible performance, management has requested that a pool
of BlackBerry MDS Integration Services' be setup for use with the corporate Sales
application. In order to create this pool, what steps would need to be completed first?
(Choose one)

A. Create DNS records for the BlackBerry MDS Connection Pool

B. Create DNS records for the BlackBerry MDS Integration Service instances
C. Create a pool of BlackBerry MDS Connection Services

D. Create a secondary pool of BlackBerry MDS Integration Service instances

Answer: B

QUESTION: 59
Which BlackBerry Enterprise Server component is responsible for calculating health
scores of a BlackBerry Enterprise Server configured for high availability? (Choose one)

A. BlackBerry Controller

B. BlackBerry Messaging Agent
C. BlackBerryMailstore Service
D. BlackBerry Dispatcher

E. BlackBerry Router
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Answer: D

QUESTION: 60
A company wants any BlackBerry device left idle for a period of time to automatically
lock itself. How can they accomplish this? (Choose one)

A. Specify a value for the Set Password Timeout IT policy

B. Send the delete all data and disable device IT command

C. Specify the minimum password length IT policy

D. Send the specify new device password and lock handheld IT command
E. Specify a value for the Password Lockout IT policy

Answer: A

QUESTION: 61
In order to allow IBM Lotus Domino to run under the Local System account, which
account must be added to Microsoft SQL Server? (Choose one)

A. Domain\Administrator

B. Domain\Localhost

C. Domain\LocalSystem

D. Domain\ComputerName$
E. Domain\LocalAdmin$

Answer: D

QUESTION: 62

Given a company's planned implementation of BlackBerry Enterprise Server software
version 5.0, how can they ensure that the BlackBerry Enterprise Server instances have
stable connectivity to the BlackBerry Infrastructure?(Choose one)

A. Create a BlackBerry Router pool

B. Create a BlackBerry MDS Connection pool

C. Create a BlackBerry Administration Service pool
D. Create a BlackBerry Collaboration Service pool
E. Create a BlackBerry Load Balancing pool
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Answer: A

QUESTION: 63
In which location can the administrator change the port that is being used by BlackBerry
Enterprise Server for SQL communication? (Choose one)

A. The BlackBerry Administration Service

B. The BlackBerry Server Configuration Utility

C. The SQL Management Studio

D. The SQL Server Configuration Manager

E. The SQL Server Port Area Configuration Utility

Answer: B

QUESTION: 64
Which three services automatically start on a standby server when a failover occurs?
(Choose three.)

A. BlackBerryMailStore Service

B. BlackBerry Dispatcher Service

C. BlackBerry Router Service

D. BlackBerry Policy Service

E. BlackBerry Synchronization Service

Answer: A, D, E

QUESTION: 65

If BlackBerry Enterprise Server instances are only installed in two locations, what should
be implemented to ensure an environment is configured for high availability? (Choose
one)

A. Additional primary directories

B. Clustered messaging servers

C. Additional BlackBerry Routers

D. SQL log shipping

E. IBM Lotus Domino transactional logging

Answer: B
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